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1.

Difference between the most probable analytical
result and the true value for the sample is termed

1. wqiftrs w=rer favemoners aRemd @ T

& IRdfdd A9 H IR BT PEd & —

as -
(1) grgfRes (2) wHfda
(1) Random error (2) Gross error @) P e @) £
(3) Indeterminate error (4) Systematic error 3fe Ll _g’f%
(5) Question not attempted (5) IrgaRa ue
2. The structure of tyrosine is — - TRIRMNEE @ 693991 & —
(1) o) (1 (0]
HO/VJ\OH HO/\HkOH
NH, NH,
(2) O (=] [=] 2 o)
=]
OH
NH,
HO
(3) (3) 0
AN OH
NH,
N
H
4) (4) 0
OH OH
NH, NH,
(5) Question not attempted (8) rgaRa o
3. In order to construct a separation based sensor, - QUFBRRY] ARG Hdgw @ o ?g <4
the Liquid Chromatography (LC) or Capillary gqofafRgat (LC) a1 HReT dgd ot Heer
Electrophoresis (CE) is hyphenated with the (CE) @& 91 &9 d&-ie &1 aifera fbam St
technique - 4
(1) Microdialysis (1) Jg&H 3rurE
(2) Thermogravimetric analysis (2) dURIHS favergor
(3) Nuclear magnetic resonance (3) ARSI FEH JAFATS
(4) Mass Spectrometry (4) sauE Wagiag!
(5) Question not attempted (5) arg<fRa e
4. In the photometry, the higher buming 4 BEEE § S=a Te7 auaE Fr=fafed § @
temperature is generated by which of the fora sarem Ao R Sa—= 89T 27
f;})ll(zwinglﬂame mixtures? (1) WRfERT—sifioT
cetylene-oxygen @) BTESeE—ay
(2) Hydrogen-air z *
(3) Hydrogen-oxygen-entrained air () ETEgISTI-ffaRASTT g arg
(4) Propane-air (4) mE—ary
(5) Question not attempted (8) srgafRa ueA
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5. Given reaction is known as - 5. & g rfafar s s @ —
Br Br

R COOH + Br —%s g COOH R COOH + By 28 § COOH
(1) Hunsdiecker reaction (1) g~asier IfAfHan
(2) Schmidt reaction (2) feme sfwfepar
(3) Hell-Volhard-Zelinsky reaction () Ba—arcEre—uifor~a! ifafhar
(4) Hoffmann bromamide reaction (4) EHaT SHMSS AfAfhar
(5) Question not attempted (5) srgaRa ueA

6. 25 mL of H2SOs solution requires 48.75 mL of 6. 25 mL H.S04 &1 /vl efifrar & forg
0.02 M NaOH for complete titration. Calculate 48.75 mL 0.02 M NaOH &1 JATgeddhdl sl & |
the Molarity of H2SOs . H>SO, &1 AleRAT BT 0T BT |
(1) 0.0625 M (2) 0.0475M (1) 0.0625 M (2) 0.0475 M
(3) 0.0225 M (4) 0.0195M (3) 0.0225 M (4) 0.0195 M
(5) Question not attempted (5) Ra ueA

7. Which of the following ionising and non- 7- f=foiRad # & o= smafag vd s
ionising radiation pair is a combination of faferor w1 S=aaw ©d ~gATH SHoil arell
highest and lowest energy? | 87
(1) Gamma rays -Infrared radiation (1) 7 fhRvi—aravaa fafevor
(2) X-rays-radiowaves &35 (2) X-froi—fear o<t
(3) Cosmic rays-radiowaves : (3) HIiRF® fhxoi—fSaT a<
(4) X-rays-microwaves CIEE (4) X-fovoi—gen asit
(5) Question not attempted (5) srgaRda A

8. Which factor is responsible for the broadening of ~ 8- HgAP & AU URARA @I g Ty & HROT
atomic spectral lines due to the rapid motion of URATY] WFgH &Rl & AR & forg si=
atoms relative to the detector? SRS Iavardl 8iar 27
(1) Collisional broadening (1) eHIaSIa gqRoT
(2) Doppler broadening (2) SUeR gERIT
(3) Natural broadening (3) urpfasd gaRT
(4) Pressure broadening (4) <eeHa gERoT
(5) Question not attempted (5) S =IRa e

9. Arrange the following regions of 9 figd gEH Wagd & fAfy= &3 &1 axraed
electromagnetic spectrum in order of decreasing +H Ted Y &H ¥ ggferd $ifee —
wavelength — : AT aver, X—fH=or, sravad, ATghIaRT
() Xoray > Radio wave s Microwave s Infrred () XT3V > 3 TR > gzpleén» e
(2) Radii wave > Microwave > Infrared > X-ra (2) Xf&AT T > T > > X~

y s

(3) X-ray > Microwave > Infrared > Radio wave (3) X—fHoT > HIGHIT > 37axad > T
(4) Radio wave > X-ray > Infrared > Microwave (@) A TET > X—fPR0T > v > AT
(5) Question not attempted (5) srgaRd g

10. The shift of the UV absorption band towards a 10 ORIl 3[@eNwor §8 & &H aiTqed @1 3R
lower wavelength is known as - faverga &1 a1 ST 8 —
(1) Bathchromic shift (2) Hypochromic shift (1) guiicpdl o= (2) srgavie favemu=
(3) Hyperchromic shift (4) Hypsochromic shift (3) aiftravies favemgs  (4) quiigwyt favemag=
(5) Question not attempted (5) IraRa ueA
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1. Isoelectric point is related to - 1. sgagdfdgs fdg ey wdfda 87

(1) Lipid (2) Carbohydrate (1) fofus (2) wrEEISe
(3) Amino acid (4) Vitamin (3) ¥ T et 4) ferfa=
(5) Question not attempted (5) eﬂﬁﬁa g9
12. In solvent extraction, Lanthanides and Actinides  12- faemaes fAsedur & dergst sk tfeearss! &1
are extracted by - frepdor T Smar & —
(1) a-Nitroso-f-naphthol (1) o—ATSgRI—B—%eilel gRT
(2) Dimethyl Glyoxime (DMG) (2) erzafde @fdas (DMG) gR_T
(3) Diphenylthiocarbazone (3) TEHFTAEIEENSE gRT
(4) Thenoyl trifluoroacetone (TTA) @) oz E}"Eﬂﬁaﬁﬁ RIS (TTA) -7
(5) Question not attempted (5) ergaRd U

13. What will be the major product in the following 13- fF=feiRaa sifhar § wrg S @ gFm?

reaction? AN
HBr IS
—_—
Product

Bits
HBr
—_—
(1 Br
(2)
Br
Br
3) Br
Br

Br
(5) Question not attempted (5) SrgaRa e
14. Which component of mixture of dye is not used 14 TUfPIc JRRTH & HIRHT g7 B AR
to stain cytoplasm in Papanicolaou staining? A B forg <Si fisor & 5w @ a1 Fm
(1) Eosin (2) Azure A T foram e 87
(3) Hematoxylin (4) Orange-G z;; g:ﬁf%{?{e ; o :j; ﬁ_ 5
(5) Question not attempted (5) srqaRe wes
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15.

16.

17.

18.

In electrophoresis, the formula for the
accelerating force (Fi) on a charged particle
(1) under the influence of a constant electric field
(E) may be represented as (Zi is the charge
number on charged particle 1 and e is charge on
an electron)-

{1y o 202 2) i ¢E )
Bl = @ Fi= Zi [=] E:l
(3) Fi=Zi eE @ pi= 4 &

(5) Question not attempted

Which of the following is the primary purpose of

wet digestion in sample preparation?

(1) To physically grind the sample into fine
particles.

(2) To dissolve organic matter using oxidizing
acids for elemental analysis.

(3) To remove moisture from
through evaporation.

(4) To separate different compounds based on
their boiling points.

(5) Question not attempted

the sample

Which of the following molecule has maximum

value of force constant?

(1) H-CI (2) H-F

() H-H (4 c1-Cl

(5) Question not attempted

In the internal standard method, what is the

primary function of the internal standard?

(1) The internal standard is a background
correction agent that eliminates matrix
interferences by altering the analyte’s
absorption or emission properties.

(2) The internal standard is a calibration agent

that independently quantifies the analyte

without requiring comparison with a

standard curve.

(3) The internal standard is a reference species
added to all samples, standards, and blanks
to normalize variations in signal response.

(4) The internal standard is a chemically and
physically distinct compound that selectively
binds with the analyte to amplify its signal
response.

(5) Question not attempted

15. Jeqeror oo # Rer figa &3 (B) & wia

16.

17.

18.

F fdt Jmafdrg &or (1) 9R N drel @Rl g
(Fi) @1 wef¥fa &) 9&d & (J8f Zi e
BT i UR ITAY GE&T & AN e U oo X

AT B) —
(1) . @? (2) g cE
Fi= ;i-é« Fi= 7
(3) Fi=7Zi eE @) gi= =
eE

(5) argaiiRa wed

T GAR FRA A e 9eE B aeifie Sie

ffalReaa # & oi=ar 27

(1) T &1 986 ol F G|

(2) a<a fazemy & foQ sifRfleR® <l &1
SYGRT HRD BIa-1H garRd bl =ier T |

(3) IEIHROT & ARTH | T A Bl S |

() FaIIe & AR U fafa=1 JiffreT &1 st
BT |

(5) <R we

fofarRaa # &1 f5w 9] & du Rexis &1 94

Haffere 27

(1) H—C1

(3) H-H

(5) I gaRd weA

FiaR® A Ay # sraRs Ae &1 5= s

T BIAT 87

(1) sraRe T\d U6 i gurs Afeds
T 2, ol fazeif¥a ugel & smEenyer ar
SaeHd el & aRafda exe Afge
TXIETT BT g BT © |

(2) afidRe AP TP B AMEHAS BT T,
S A9 A 9 P AMATHAT b WA A
w9 3 Rzl ugrel & am=r RuiRa wxan
=

(3) ariaR® d9® T ded yoifg gar 7,
AT, AE®T 3R Reh Al # ST Wi §
oify woa ufafear §  B=daril @
|G fHar S aw |

(4) ariaR® | Uh Efae 9 Hifdes w9
¥ faf¥re At BT B, S favefa ggmwel
T FYATHS WU A §HHR ITD  Add
yfafasar &1 semr 2 |

(5) IJFART Uz

(2) H-F
@) c1-C1
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19. When working with volatile chemicals, what is  19. qrI=lla IHRAl & W ®H B0 GHI G99
the best safety practice? {R@“‘ﬁ TRIPT AT B?
(1) Work in a fume hood () s 5 S TR
(2) Work in a closed room (2) 5% T H FH Y|
(3) Heat the chemicals to reduce their volatility (8 et o S e o S SR
& & WY |
(4) Cover the container with a cloth @) TR B IR T TF |
(5) Question not attempted (5) IeIRe ue .
20. Commonly used cell/tissue homogenization 20 QHEFIT: IWIRT H M aTel BIPDT/ Hdd
does not include - BIfoATgareE # afafea & 8 —
(1) Evaporation (2) Filtration (1) ama= (2) fredes
(3) Dounce (4) Grinding EI.;{E.] (3) s (4) foars
homogenization EEEE EHEISEIESEE
(5) Question not attempted (5) eraRa weA
21. In scanning electron microscope when a high  21- FHHAET gac{H Jedgell § o9 solde= T A
energy electron beam from an electron gun Uh e ol golae foxoge Aea &R
strikes the sample, then they do not generate - Ufiaes | THIA! 8, I 9 SO F8f dRal & —
(1) y-rays (GAMMA rays) (1) v - &3Ol (Tmr fwo)
(2) X-rays (2) X- ool (Taa fawon)
(3) Secondary electrons (3) fgdra®s sorae=
(4) Backscattered electrons (4) gva yaifta s
(5) Question not attempted (5) argaRa ue
22. Which of the following is an example of a  22. TRHIge WaehI ¥ Fr=foRag § 9 99T
protecting agent used in atomic spectroscopy? U ARGV HREb BT ISGIEIT 87
(1) Sodium sulphate (1) |ifeaq debe
(2) Magnesium oxide (2) N ffraTss
(3) Ethylenediaminetetraacetic acid (EDTA) (3) vfIre-eEviaeenfifes a1 (EDTA)
(4) Lanthanum chloride (4) a9 FeINTSS
(5) Question not attempted (5) argaRa ue
23. Acetylene when passed through a heated iron  23. Tg YifeeN= BT 400°C TR T &R &) T
tube at 400°C produces - yqited o Sirar €, o7 a8 99mar @ —
(1) Benzene (2) Methane (1) dsi= (2) M=
(3) Heptane (4) Ethylene (3) g<H (4) gferei=
(5) Question not attempted (5) IrgaRa we
24. Which statistical test is used to compare the  24. g7 TAT & AEUg B o1 R & g fd
means of two samples? gifegasra gderor w1 IgArT fhar ST 87
(1) t-test (2) Chi-Square Test (1) —uderor (2) FHrE—a3t gderor
(3) Correlation (4) ANOVA (3) HeaYa (4) ANOVA
(5) Question not attempted (5) srgaRd ue=
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25.

26.

27.

28.

29.

30.

The relation between standard deviation of
mean(S), standard deviation (s) and number of
measurements (n) can be expressed as -

1) oS 2) ¢_ _S
()S_n ()S_n
3 S 4 s
(}s_112 4 s = ==

(5) Question not attempted

Final magnification of a compound microscope
is equal to -

(1) Mifinal = Mobjective/Mocular

(2) Miinat = MobjectiveXMocular

(3) Miina = 1/MobjectiveX 1/Mocular

(4) Miinal = Mobjective+Mocular

(5) Question not attempted

The element used as an ionisation suppressor in

flame emission spectroscopy is - EE
(1) Aluminium (2) Copper uﬁ
(3) Cesium (4) Zinc ElnEs

(5) Question not attempted

pH of 10 M HCl is -

(1) 6.98 (2) 6.30
(3) 7.80 4) 9.0
(5) Question not attempted

Which of the following statement does not

define precision?

(1) Precision is measured in terms of mean or the
relative mean deviation.

(2) Precision is a relative measurement.

(3) Precision always accompanies accuracy but
a high degree of precision does not imply
accuracy.

(4) Precision expresses the correctness of a
measurement.

(5) Question not attempted

What is the role of Ultraviolet (UV) light in Thin

Layer Chromatography (TLC)?

(1) To increase the sample solubility

(2) To evaporate the solvent

(3) To visualise the separated solutes in presence
of fluorescent material

(4) To separate the solutes

(5) Question not attempted

25.

28.

29.

30.

AT BT A& [dgad (S), A [aaa (s) aen
HIOAT BT G (n) T T TH=T BT ST T

(1 g=32 Ol g = 5
S= - @ s=—=
3) g= 5 4) g— _S
(3) g = (4) g = —
(5) IRa ueA

a_

(1) WHpreme = Waitmifrea/ Taitger
(2) THogrm = TaiefieaxTsitger
(3) Thorgrer = 1/Tstastaeax 1 /TPt
(4) THpgae = THaitaifreat THsitger

(5) srg<IRd we

. ATl ScHud Wagehldl # 98 o

AT AR b wY H U fHar S g —

(1) YR (2) PR

(3) HAifsraw 4 &

(9) IR U

10°M HCI &7 pH fda=m grm?

(1) 6.98 (2) 6.30

(3) 7.80 4) 9.0

(5) 3rgaRda g

frafafaa d 4 o= dua aRgedar @i

gRfia FE1 Hxar 87

(1) gRyEdT &1 ARG aferaT |rdel Ared fa=rei
@ Ul § AT ST |

(2) gRergar ve amde 719 T

(3) uRRgrgar & T gmRiar Hoe 1l & fa=g
Soa uRReedr &1 Afaura gemeiar w8l 2 |

(4) gRgrear &0 A0 & W& 89 Bl AHTa
FHA B |

(5) srgafka ued

gaell IRd duiciRaast # o= fh=on &1 @

SUIFT BT 87

(1) ufeee o1 fRemar A gfg &= @11

(2) facma®s &1 aIftad oA @1

(3) vl uared &1 SuRefy # gus A
faerdi &1 <@ B

(4) faordt 1 gIE HIA B

(5) srgaRa w3
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31. In Complexometric titration for quantitative 31. H@aARAdE JFFAUT d Mg* dan1 Ca™* &
analysis of Mg** and Ca®*, which of the HEATHS faverwor o fov F=fofRaa & & s
following ion is used as masking agent? I UEBTedh & w4 H ugad fhar S 27
(1) Nitrate ion (2) Cyanide ion (1) Arsge IMaH (2) wrIAaTsS IMIa
(3) Phosphate ion (4) Carbonate ion (3) wBe AT (4) FEHe 3T
(5) Question not attempted (5) IrgaRd g

32. If V cm’of an aqueous solution containing xo gm 32 ¥f& V {HL? Soig fda@q, S xo” 9 faery
of a solute be extracted ‘n’ times with ‘v’cm? giRd HRal 8, @ ‘n’ IR &I gy fooms &
portions of a given solvent then the weight of ‘v’ JAL sl gRT sy fear Siar 8,
solute ‘x,” remaining in the water layer is given 9 g8 ool WA d faerg & IR ‘x,” & fa
by the expression (where D is distribution ratio FToid @ gR fRar s ($18f ‘D’ oiel g9 R
between water and given solvent) — T fasras & 9= fQaeor T[oTih ) —

1 1/ DV \P+l 1 n+1
o =) =)

n n
= % = Xo (Dl‘j'zv) o ¥n = Xo (Ds\;v)
@ _. (_D_g__)“‘l ElEE @ (M_)"‘l

n o D/v+un % - L 2 1)D/Vv+un
@ Xnp = Xo (DDVTV) . % = (DV/W)
(5) Question not attempted (5) araRd
33. Choose the wrong statement for indeterminate  33- 9T Ffedi & g Toaq s &1 a9
errors - I |
(1) Small indeterminate errors occur more M g&q aﬁaﬁ Ffedt & e 4 BIet st
frequently than the large ones. ﬁ Gkl W SICEZRIE] AE‘\r_l

(2) Indeterminate errors are accidental thus (@) sfary e I el § I
intangible over which analyst has no control. Pt ﬁ@%%;?ﬁ R fazeivs @1 B1g

(3) Indetemnn.ate errors can t?e. best .ex;‘)res§ed (3) P SR B TR a1 ik -
by Gaussian or probability distribution 9% & TN GaaH ©T § @wd Bhar o
curve. T

(4) The absolute value of indeterminate errors (@) iy 3Rt @1 FRver 71 sraga &Y ==
depends upon the amount of the constituent. W™ R o=ar 2

(5) Question not attempted (5) gaRd ue

34. 34.

What is the primary function of the Deuterium

lamp in atomic spectroscopy?

(1) It measures the total absorbance.

(2) It serves as a high-energy excitation source
to enhance analyte signal intensity.

(3) It provides a continuous radiation source to
estimate non-specific background
absorbance.

(4) It generates a stable emission spectrum to
improve detection limits.

(5) Question not attempted

IRAMMYTS WFRpdl 4 SIeRIT v &1 g1

HR T 8?

(1) T8 o JqONS BT AT 2 |

(2) 77 fawaifda awa @1 Hha—digar @ Tem
& foIU U Sw—wroil SoAr 9id & w9 #
HT BT © |

(3) iR—faf¥re gofy sraeiyor &1 afider B
3 fou 77 o o fafewer aa ue=
HRAT 2

(@) dxgE= ARl @ 98a) B & o 7 e
W IS Wagq Soq=] HeeT |

(5 srgaRka g
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35.

36.

37.

38.

39.

Which of the following is not a method of protein

precipitation?

(1) Inorganic solvent precipitation

(2) Isoelectric precipitation ==

(3) Polyethylene Glycol precipitation E ;

(4) Ammonium sulphate precipitation

(5) Question not attempted

At low aqueous concentrations and ordinary

temperatures, the extent of exchange increases

with -

(1) decreasing charge of the exchanging ion

(2) increasing atomic number of the exchanging
ion

(3) increasing charge of the exchanging ion

(4) increasing ionic radii of the exchanging ion

(5) Question not attempted

Which of the following is not a fundamental

requirement for a useful ion-exchange resin?

(1) The resin must be sufficiently hydrophilic.

(2) The resin must contain a sufficient number
of accessible ionic exchange groups and
must be chemically stable.

(3) The swollen resin must be lighter than water.

(4) The resin must be sufficiently cross-linked.

(5) Question not attempted

Which of the following is not used as fluorescent

indicator in Atomic Fluorescence Spectrometry?

(1) 2-Naphthoquinoline(2) Quinine Sulphate

(3) Dimethylglyoxime (4) Fluorescein

(5) Question not attempted

Name the buffer system which helps maintaining

the pH of the blood close to 7.4 -

(1) Carbonic acid + Sodium hydrogen carbonate

(2) Acetic acid + Sodium carbonate

(3) Protein buffers

(4) Glycine + HCI

(5) Question not attempted

35.

36.

37.

38.

39.

fFrefaRaa d§ 9 S0 WIS @8 @ Uh
fafer =81 &7

(1) spEfAe Jemae r@e™er

(2) wHfT srgergor

(3) diciiuferel™ vag®iar Taerqor

(4) 3MIfam Webhe g

(5) Ig=IRa ueA

319 STl diesdl du71 |Eg ad )R ffEg
P A= ggdl & —

(1) faffasEr S &1 Ahe ged W)

(2) RFFEERI o9 &1 GRAY] HHG 87 0R
(3) faff TR 3MaT &7 AP g8 WX

(4) fAffgeEr omaE & mafae BT 9g ==

(5) Irg<fRa U

U IUART e faftma IR gg R e

el d ATaegdHdl el 87

(1) R g B F =il BT AR |

(2 R & uw gITa 7= H gow s
faffra wgg g =fey den 98 vNrafHe
gfe & il 8Fr =y |

(3) wetr g3 T A F Fodl BT @AY |

(@) R gt wU F HiE a8 a2y |

(5) srgxIRa ued

Eod gfadifa Wagafafa #§ sar ufada

ad & wU § ugad el fhar S 87

(1) 2—_weifda=rels (2) fde g

(3) srzAfereTRT (4) FgIRRIA

(5) rg<IRd wed

SH 9B O3 P AW AR ST & B pH Bl

7.4 HA9 T @ & -

(1) FEEE 3 + AIfSTT EFSoH HEFT

(2) WRifew erat + AIfsTH HEHe

(3) U= & and

(4) T + HCl

(5) srgaRa ueA
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40.

Which of the following statement is correct?

(1) The rotor speed in sedimentation velocity
method is lower (about 400 rpm) than the
sedimentation equilibrium method.

(2) The rotor speed is higher (about 60000 rpm)
in the sedimentation equilibrium method
than the sedimentation velocity method.

(3) The rotor speed is lower (about 10000 rpm)
in the sedimentation equilibrium method
than the sedimentation velocity method.

(4) The rotor speed is same (about 400 rpm) in
the sedimentation equilibrium method and
the sedimentation velocity method.

(5) Question not attempted

40. f=farfRag # A AT HUH 98l 27

(1) srqTest dAgerd fafer @ o ¥ S|
aﬂﬁﬁﬁﬁﬁ??ﬁﬂ%(w400rpm)
FH B 2 |

(2 sgures wgew A # I @1 TR
(STHT 60000 rpm) 3rgdres 9 fafy &t
T | a1fds &t 21

() sgEred wgem fafr # Jex #HoAfa
(ST 10000 rpm)  3rddreA 91 fafy &t
qor ¥ HH BT B |

(@) g Aged A ok e a1 fafy
H X o1 A FAE (ST 400 rpm) BT
B

(5) Irg=IRT Us

41. Which of the following main components of  41. geraH WagHdl & F=falRed v geai d |
mass spectrometry deal with resolving ions into DIT—T USh AT P S STHAHA—I—IMIT
their characteristic mass components occurring U # B9 91l eee faf¥re geud sl A
to their mass-to-charge ratio? T H § gafg 27
(1) Direct Insertion (2) Detectors (1) e P AR (2) RS

tube .
(3) Analyzers (4) Ton source @) @) e e
(5) Question not attempted (5) SrgaRa we

42. Which force is responsible for dissolving solute ~ 42. BT 91 SRS & o9sd &R R{emas
particles in solvent and forcing them in upper rera ugred & SOl &t 3 # faoi g e S
direction? @l AR AT w=ar 27
(1) Partition force (2) Retarding force (1) fqa=or 91 (2 75 9
(3) Gravitational force (4) Propelling force (3) TZATHYT TA (4) Ac® I
(5) Question not attempted (5) ergaRa U

43. If the wavelength of a radiation is 2.5, then the ~ 43- afy fB=lY fAfdror Y qearded 2,51 2, o ST
corresponding wave number will be - T TR HE&AT BT A ERTT —

(1) 3500 cm™ (2) 2500 cm™ DD (1) 3500 FA (2 2500 |1
(3) 3000 cm™ (4) 4000 cm™ (=] () 3000 wAT! (4) 4000 wA!
(5) Question not attempted (5) srgaRd uz=

44. The most widely used flame in atomic 44 WRAVER IJNYU WagafBfy § waifte g
absorption spectroscopy is - @1 S dTell Sarel § —

(1) Air-Coal gas and Air-Hydrogen () Ig-PrAS T I TY-EIgST
(2) Oxyacetylene and Natural gas ) aﬁﬂﬁw Td wrpias T
(3) Air-propane and Air-Butane (@ arg-9= v ?ﬂg—aﬁﬁ
(4) Air-acetylene and Nitrous oxide-acetylene “ ?%TE@—Q%;??
(5) Question not attempted (5) saRa e
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45.

46.

47.

48.

49.

In polyatomic molecules, silent vibrations which
involve no change of dipole moment or
polarizability are -

(1) IR inactive but Raman active

(2) Neither IR active nor Raman active

(3) IR active but Raman inactive

(4) Both IR and Raman active

(5) Question not attempted

Aldehydes and Ketones can be reduced to
hydrocarbons by the action of amalgamated Zinc
and concentrated HCI. This reaction is known
as -

(1) Rosenmund reduction EEE
(2) Birch reduction Ty
(3) Clemmensen reduction [=]

(4) Wolff-Kishner reduction

(5) Question not attempted

Which of the following is a major component of

the cell membrane?

(1) Phospholipid (2) Cholesterol

(3) Starch (4) Cellulose

(5) Question not attempted

Which of the following is not a hyphenated

technique?

(1) LC-MS (Liquid Chromatography-Mass
Spectrometry)

(2) DTA-DSC (Differential Thermal
Analysis-Differential Scanning Calorimetry)

(3) GC-MS (Gas Chromatography-Mass
Spectrometry)

(4) ICP-MS (Inductively Coupled Plasma-Mass
Spectroscopy)

(5) Question not attempted

Which part of the polarizing microscope is used
to measure optical path differences?

(1) Polarizer (2) Compensator
(3) Condenser ~ (4) Diaphragm

(5) Question not attempted

45.

46.

47.

48.

49.

gguRAIfas Rl d A wid e R

gaura srerar fgga eyt smRafda wed € 9

Bl & —

(1) IR FfSpy fb=g <= wAfhy

(2) 7 a1 IR |fha 3R a1 & W7 iy

(3) IR wfhy fF<g = F[ftwa

(4) T IR Td 94 Afha

(5) rgaRa =

Vfesggsi vd el @& fhar Rie—sme ™ g

g HCl 9 &3 O 3 gIgsiaEAl # uafdd

8 W & | g8 AIfAfhar sEarh § —

(1) ASgS IagH

(2) T9 =T

(3) T T

(4) AieH—THeR AT=IIA

(5) rg<Ra g

frafafRaa § | Sar SIfteT el 1

UTH 87

(1) wiEpIffus

(3) wrd

) srgaRa we=

fa=fafad § | Al e d&-d T8l 87

(1) LC-MS (59 goiciResi—saae Wagifig)

(2) DTA-DSC (fer<t ey faweryor—fas<t
AT HEATAL)

(3) GC-MS (1 aoieiRaai—saw= Wagifig)

(4) ICP-MS (RvIIRHd WirsH—gedH T
RREERED)

(®) srgaRa Te

gAIPROT HEHRDIY B fhE AT BT SUEN

siffterer ger 3iaR @ A" & fog far s

&

(2) Brergia
(4) T

(1) greREw (2) HIE=ASR
3) HsAER (4) ST
(5) IrgaiRa weH
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50.

Which Hyphenated technique is most commonly

used for detecting trace metals in biological

samples?

(1) Fourier transform-Infrared spectroscopy

(2) High Pressure Liquid Chromatography

(3) Inductively coupled plasma-Mass
spectroscopy

(4) Fourier transform-Raman spectroscopy

(5) Question not attempted

50.

Sifge wfdesi # ofer grgsil &1 9ar o g
waifds Iud # <l 99 grell Ao des
& _

(1) R FURUI—3ERFT WFHaT

(2) J=ere a9 aufeRaat

(3) TRoT giAe  ITSHI—SEHE Wag A

(4) BRA  [UTRI—IHT WG Ha!

(5) erRa g=A

51. In instrumental methods of analysis, which of the ~ 51- favergor &1 Suswvhy At #§ F=faRag 5 9
following technique is used for elemental Al dee aa RQave & oy ugaa
analysis? ST &7
(1) Conductometry (1) FreHanafa
(2) Atomic absorption spectroscopy (2) TRHOGY AN WIS R IT
(3) Nephelometry (3) anfacrarfafa
(4) High performance liquid chromatography (4) I=g fawgres gq guiaiRgasT
(5) Question not attempted (5) IrgaRd ueA

9% Rucleation i8.. vossmssesms 52. <fderye & —

(1) a separation process used to separate ions 1) 2raar 3w aqlaﬁ BT EREY P B forg
and molecules. SUATT # ol S arell gerd@nRor Uik |

(2) a process in which a minimum number of () wo T R =T \RE § URETT /A7
zzzgzlsr?)?ljcules join together to give a T 3 FieeR I o I £ |

b s il @ IR T B e T @
a process of activating a non-radioactive
element to radioactive. BEI

(4) a process of precipitating the desired analyte (@) srgfedl @& |y Aifed favdys o saafd
together with impurities. B BT gfehar |

(5) Question not attempted (5) Srg<IRa wed

53. Which equation is used to calculate the pH of a  53. %% fde@a & pH & TvMT & forv &Hw
buffer solution? FATHROT BT YA fHar e €7
(1) Nemnst’s equation (1) = BT
(2) Henderson-HasselBalch equation (2) ESRTA—BHAAID FHIBRT
(3) Arrhenius equation EE (3) IRfAer  HIHROT
(4) Ilkovic equation : (4) snseidlfdd FHIBROT
(5) Question not attempted = (5) IrgaiRa ued

54. A zwitter ion is that which contains? 54. gy fSgex e 98 8, Ol —

(1) No charge (1) 3Ig 9 T8 Tgar &
(2) Both positive and negative charge (2) gamafdg qen Fomafd < &
(3) Only positively charge (3) Bga gaafltE &
(4) Only negatively charge (4) Hgar =RUAPE &
(3) Question not attempted (5) srgaRa we=
66 - 36 Page 12 of 32



55. What will be the major product (P) in the 55 ififshan & g= Scurg (P) @/m BITT?
reaction?
HNO,
H,50, (1)
(1
O,N NO,
0,N NO, -
(2) |
NO,
NO, @)
5 I NO
(3) NOZ B
NO,
NO, :
@ | NO, @) NO,
(5) Question not attempted (5) IR weA
56. D — Mannose is epimer of - 56. S-{rs7 fhaer iR 27
(1) D-Glucose (2) D-Fructose (1) D—g@E (2) D—paE
(3) D-Erythrose (4) D-Galactose (3) D—uRe™ (4) D—iradeg
(5) Question not attempted (5) IrgaRa gz
57. The unit of the sedimentation coefficient is - 57. JrguTee TUIe & ThIS & —
(1) Poise (2) Svedberg (1) digs (2) Wt
(3) Pascal (4) Rydberg (3) gr=pet @) Rsat
(5) Question not attempted (5) mﬂﬁ'ﬁﬁ g
58. “Chitin” is a polymer of which of the following? 58 ‘®rsfes fr=faiRaa & & fbws® sgos &7
(1) L-Arginine (1) L—anfifa= &1
(2) Lipoic acid (2) fordais® 3T &1
(3) N-Acetyl glucosamine =2 ]s] (3) N—ufHfest T IEHIA Bl
=Ry
(4) Unsaturated fatty acid oS (4) TS TAT I BT

(5) Question not attempted

(5) FgRa weA
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59. Which of the following best describes the

60.

61.

purpose of a Standard Operating Procedure

(SOP) in a laboratory?

(1) To provide a detailed and step-by-step
guidance to ensure consistency and
reliability in procedures.

(2) To serve as a general guideline without the
need for strict adherence.

(3) To document experimental failures rather
than prevent them.

(4) To allow researchers to perform experiments
based on their personal experience and
judgment.

(5) Question not attempted

Which among the following is not an application

of HPLC?

(1) Separation of gaseous mixture can be
performed by HPLC.

(2) Impurity of Phenol in water upto nanogram
level can be determined.

(3) Separation of
present in water can be performed by HPLC.

trace organic impurities

(4) Presence of trace amount of Aflatoxin, an
extremely toxic substance can be found
using HPLC.

(5) Question not attempted

What is the

isocratic

key difference between

elution and gradient elution in

High-Performance Liquid Chromatography?
(1) In
composition remains constant whereas in

isocratic elution, the mobile phase
gradient elution it varies over the time.

(2) Isocratic elution is used only for polar
compounds whereas gradient elution is used
for non-polar compounds.

(3) Isocratic elution provides better resolution
for complex mixtures compared to gradient
elution.

(4) Gradient elution uses a single solvent while

59.

60.

61.

(5

1socratic elution uses a mixture of solvents.rziy
[E13%[=]

G

Question not attempted

o § 9 99T yIrEner ¥ U 39S

Hare ufehar (SOP) & [ed & e 3I=W1

qUIT BT 87

(1) ufspamal & Rerar iR favag-aar gffded
HA & U Ue faga U@ aRu—gR—=Rl
ARTEEE UG HxAT |

(2) fo71 G FUTAd B AEEEHAT B UD
A feenfaEer & w9 # B HeAT |

(3) AT fAwadrall &I b= BT el S
SRATafTd BT |

(@) wgmdlell H SH6 @fdaTa wa 3R
ol & MR W WART WA B AN
AT

(8) srgaiRa we

fFre=feRad § & ST HPLC &1 U IuanT

T8I 87

(1) HPLC gRT 919 fAs01 &7 grgavor |vd
=1

(2) o1 # SuRerd e & S9UH wWR @I
gIfE &1 Sfider |

(3) HPLC &1 S ¥ SuRerd wHzd o9 9=
P AYfedl B gafdrd v 2g UG
frar ST 21

(3) VuaTeIfdT, S U st IrfduTe] usTef ®,
@ G HIET ST 9al HPLC gRT ST o
Tl & |

(5) srgaRa g

= 9req ga auiaRas! § gavdaes &rcH

SR YOI e & d1" §3= IiaR T 87

(1) FHHge® &ra | ireiiel Uravelr &1 GaeH
Rer <7ar g, s1&f vavrar eme= § I8 999
® AT gEeIar ¥&dl & |

(2) woHges oeq ddd gdig el & fog
SuArT fear Srar 8, wiafe uquar eeH
dae Igdrg Al & Ay SuarT fear
ST 2

(3) THHge®d &ad Sifed o & fow 98w
e yeM ®xar 8, Wdfd udurar erere
8l |

(4) YgouTaT &fTeie Udhdl A &7 SUART Hedl
B, Tafd AAEECH oo H faoraei @r
sror wanT fhar ST 21

(5) srgaRa u

66 - 36

Page 14 of 32



62.

63.

64.

65.

66.

67.

68.

pH of a 0.01M HCl solution is -

M1 (2) 2

(3) 10 4 12

(5) Question not attempted

Ion-exchange resins are mainly composed of -

(1) Hydrocarbon chain

(2) Cross-linked polymers

(3) Non-Metallic Oxide

(4) Metallic Oxide Ex

(5) Question not attempted

The anti-stokes lines are generally weaker in

intensity because -

(1) Molecules absorb the radiation completely

(2) Incident radiation is unpolarized

(3) Vibrational energies are small

(4) Initially there are very few molecules in the
excited vibrational state

(5) Question not attempted

For a non-linear molecule of ‘n’ atoms, the
vibrational degrees of freedom will be -

(1) 3n-9 (2) 3n-6

(3) 3n-3 (4) 3n-5

(5) Question not attempted

Van-Deemter equation is -

() H=A+ -+Cu (2 H=B + —+Cu

>l e
el wel] >

3 H=B + +Ca (4 H=A +

(5) Question not attempted

+ Cu

Name the solvent used in solvent extraction for
the extraction of Uranyl nitrate and its separation
from fission products -
(1) Citric acid (2) Tri-n-butyl
phosphate
(3) 3-Methylbutanol  (4) Nitrobenzene

(5) Question not attempted

Which of the following detector is not used in
Gas Chromatography?

(1) Electron capture detector

(2) Thermal conductivity detector

(3) Uranyl oxalate detector

(4) Flame ionization detector

(5) Question not attempted

[E] % E]

62. 0.01M HCI faera= &7 pH & —

63.

64.

65.

66.

(1) 1

3) 10

(5) srgaRa e

Jra—faf =T M = w9 F 91 ' & —

(1) gsSIFET siEar A

(2) Refe o aga® ¥

(3) sErgali & sifadrss 9

@) arg B sifexTss ¥

(5) srgRRa ued

UEI—ad ¥EY HAR )R digar ¥ HEGR

BT 8, Jifd —

(Ugﬂﬁrﬁﬁmﬁqﬁmﬁmfﬁaaﬂéﬁ
|

(2) smufaa fafeswor sgfaa 2 2

(3) FUT HAY BT BT

(4) U™ H 98d HH ] IR BT @l
A e g

(5) sg<IRa ueA

‘0’ TRATYET el fHAl R e 2 HRH

AT B BIfS BT AF BT —

(2 2
@ 12

(1) 3n-9 (2) 3n-6

(3) 3n-3 (4) 3n-5

(5) srgaRa ueA

FI—HSR FHIHRT & —

(1) H=A + %+ca 2 H=B + %+ca
@) H=B + %+ca @ H=A + §+ca
(5) srgafRa ued

- 39 faarae &1 9 o o fQomge fAspdo

# RS AEge & Ay g saa fagve
IRl ¥ gufdsd &3 eg SudnT # forar S

& _

") Rift® srat @) z—n—gfed
HiEhe

(3) 3—Afda geArta  (4) TEgIEiA

(5) IgaRa e

- fer=forlRaa 4 9 @9 O@s 19 HHECUTS

# IudnT el ferar Srer 87
(1) SoagH =R GYID
(2) ST ATAHal AGID
(3) PATSA Hfaacic FGFAD
(4) ITET JATTATDHRT HH D
(5) IFRa ueH
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69. Ringer’s lactate includes - 69. e dace # wffora g —
(1) Silicon lactate (2) Zinc lactate (1) Raforp@ dace (2 Rig dace
(3) Sodium lactate (4) Copper lactate (3) HIfsTH iace (4) IR olace
(5) Question not attempted (5) ar<Ra ge=
70. Which of the following technique is not an 70 f=foiRag # ¥ @l dd-ild Ta  degd
electrical method of analysis? Jeoifts fafy =8 &7
(1) Potentiometry (2) Coulometry (1) grefermmd (2) FHAmd
(3) Volumetry (4) Voltammetry (3) dregHgl (@) QreemdY
(5) Question not attempted (5) 3rg<iRea ==
71. Which type of microscope provides a 3-D view  71. fo=faRag geweRial 4 @ o= 93 @) was
of the specimen’s surface? &1 e (3-D) S IUcTe] hNIdl 2
(1) Phase Contrast Microscope (1) e fauail geweed
(2) Transmission Electron Microscope (TEM) (2) 9RIHA Solagia geHasil (TEM)
(3) Confocal Microscope (3) Ff gewgeli
(4) Scanning Electron Microscope (SEM) (4) wHAIEVT g gestaelt (SEM)
(5) Question not attempted (5) srg<iRa u=A
72. Which statement is incorrect for design of TEM?  72. TEM &) fSWsa & o0 &9 o9 390 &7
(1) Electromagnetic lens are used as objective as " ﬁgﬂw Bl Eﬁ m qIT el
well as projector lens. = T W L
(2) yfaesl &F oia B wige W [N AT 2 |
(2) Specimen is placed on glass slide. (3) aifgw ufafaw urag o © forg CCD W
(3) CCD camera is used to observe final image. BT SUANT Bl & |
(4) Electron gun is used for illumination @ ;é:q:r @ o Serasi T 1 SwAT e
(5) Question not attempted (5) srgaRa T
73. The median value of the following data willbe -  73- fy=foiRad wwsii 2q =fegsT &1 A & T —
37,31,42,46,43, 25, 39,32,45 37, 31, 42, 46, 43, 25, 39, 32, 45
(1) 42 (2) 39 (1) 42 (2) 39
(3) 45 (4) 43 (3) 45 (4) 43
(5) Question not attempted () IgaRa ueA
74. Which one of the following is not used as light 74 f=feiRea § ¥ S9ET WivaRR=T U
source in Epifluorescence Light Microscopy? HISHIEPIUT | TS FId & ©T H & F 8
(1) Silicon carbide lamp 3T £
(2) High pressure mercury lamp ) fafeia Prafys
(3) Lasers and LED sources oo et e
(4) Xenon vapour lamp [=]x¢ =] o @[Tri‘\f R il i
. e @) S 99 odw|
(5) Question not attempted = (5) srgaRT e
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75.

76.

77.

78.

79.

Sodium starch glycolate is used as indicator in
which of the following type of titration?
(1) Iodometric titration

(2) Acid-Base titration

(3) Complexometric titration o
(4) Precipitation titration

(5) Question not attempted

Following are not
evidences -

(1) Blood, hair, saliva. semen

(2) Testimonial, Demonstrative, Digital
(3) Latent fingerprint, footprint

(4) Cigarette bud, Alcohol bottle

(5) Question not attempted

examples of physical

The correct sequence for crime scene

management —

(A) Securing the scene and determining the
boundaries of the scene.

(B) Initial walk-through to gain an overview of
the situation.

(C) Establish the perpetrator’s path of entry and
exit.

(D) Develop a strategy for systematic

exanimation and documentation of the
entire crime scene.

Choose the correct sequence -

(1) (A), (B), (C) and (D)

(2) (A), (C), (D) and (B)

(3) (A), (C), (B) and (D)

(4) (A), (B), (D) and (C)

(5) Question not attempted

Which of the following is a combination of

Acidic-Basic drug?

(1) Amphetamine-Phenyclidine

(2) Methadone-Cocaine

(3) Barbiturates-Asprin

(4) Barbiturates-Phenyclidine

(5) Question not attempted

Evidence which is produced by an event or an
action, which is also temporary and can be easily
changed or lost -
(1) Associative
evidence
(3) Transient evidence (4) Conditional
evidence

(5) Question not attempted

(2) Transfer evidence

[w]:£0m]

75.

76.

77.

78.

79.

fr=fafaa # 4 f5a R & # Aifean
T TARPIde I gad @ w4 H ggdad e
ST 87

(1) smaTSIfERiE AT

(2) rFa—&TR IrFHIA

(3) FHAAIT AT

(4) raeyul STFHTIA

(5) sralRa s

= 4 B Hifae Jed & SeTeRor T8l 57
(1) ad, 91, R, 9

(2) rardl, veEHs, f$iea

() <ice e & A, IR & fFEm

(4) e & dcc, INE @I I

(5) SrARa g

3TOUNTET YISl U &1 98l 9 & —

(A) W B FPWiEa H ITH AHRN &1
fAerfor |

(B) Rafg &1 sm@c®d g a1 & fow
gRfA7e B |

(C) IRl & uder 3R e &1 J9rf wenfug
HRAT |

(D) IR B AR SIid T SATISITRRIT B

forg zorifa fawfRma o=AT|
TEI P TafRked & —
(1 (A), (B), (C) 3R (D)
(2 (A), (C), (D) 3R (B)
(3) (A), (O), (B) 3R (D)
@) (A), (B). (D) 3R (C)
(5) araRa ueH
f=foRaa # & o tRifse—afRie gar o
[ 87
(1) TrheMIEAI—bAlfdeTsIsd
(2) HITSH—PHIBA
() ardiegreE—uie
(4) qdicReH—BrlfdersIgT
(5) srgaRa Uz
TH "edT a1 har gRT STd ey, S SRRl
A B0 € 3R o= a9 9 9o a7 gHE

feparm ST gehar & —
(1) vafaafea arg
(3) giaforde He
(5) IgIRa =

(2) wATaRd HeYg
(4) HISITEAA Ty
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80.

80

Which of the following is causing high

psychological dependency but no physical

EE
=55

dependency?
(1) Methaqualone (2) Cocaine
(3) Heroin (4) Nicotine

(5) Question not attempted

- FrfaRea & @ o9 s= #Aase ik
ST AT & offdhd INIRG feiRar =817

(1) JaraaraE (2) P

@) =g @) e

(5) gaRa ue

81. The hallucinogenic effect of LSD was first 81 TaUwS! & ARG RI Y4@T BT avi- HaId Usal
described by - frae fasar ar?

(1) Sigmund Freud (2) Albert Hofmann (1) faHs wius (2) 3w BHHA

(3) Paul Ehrlich (4) Adolf Van Baeyer (3) dier ufelw (4) veIew 91 9IR

(5) Question not attempted (5) eraRa ueA

82. What is the common cutting agent used in street  82. - T H FHEIadT B9 HfeT

Heroin sample? goie &1 ganT faar siar 87

(1) Cocaine (2) Amphetamine (1) S (2) Tplem™E

(3) Alprazolam (4) Codeine (3) YeHTSIIe™ (4) PEH

(5) Question not attempted (5) IrgaRd g

83. Assertion (A): Augmented Reality (AR) 83. gm@r (A): 3ifHcs RIfET (TaR) dd+iie U
technology is a cutting-edge FATTB qB-h & S IR I
technology that provides a fITITOT TR TF AT FREPIOT HEH
new perspective on crime B 2
scene analysis.

Reason (R): AR allows crime scene PR G T i a?j,sm
investigations to visualize and PR m P T AR FeRE
interact with virtual crime B B AFART <l B |
scenes. (1) (A) 3 8, adfda (R) 9 B

(1) (A) is false, but (R) is true. (2 M1 (A) R R) I &, 3R (R), (A)

(2) Both (A) and (R) are true, and (R) is the TE ST ¥

correct explanation of (A) @) 5 (A5 e () e b RS (A) B

(3) Both (A) and (R) are true, but (R) is not the

correct explanation of (A) WEl e T & |

(4) (A)is true, but (R) is false. @ (A)F &, AP (R) o T

(5) Question not attempted (5) argaiRa we
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84. Which of the following are the distinctive but  84. fy=faRad #§ I ST TR el Yded &
interrelated components of crime scene faftre aife ReR wefag ges 27
management? (A) I
(A) Information (B) H9UTaR
(B) Manpower (C) ufreror
(C) Training (D) ;ﬁgﬁ-ﬁa‘)}r
(D) Technology (E) ifsiRes
e Togstigs A R T Rwed ¥ @ oW T -
Choose the correct option given below - ol
(1) (A), (B), (C) and (E) (1 (A), (B), (C) ) (E)

EIZE @ @) ©). @) 3R )
(2) (B), (C), (A) and (D) 4] ’ i
() (A), (B), (D) and (E) =5 @) (A), (B). (D) IR (E)
(4) (C), (D), (E) and (A) (4) (C), (D), (E) 3R (A)
(5) Question not attempted (5) IrgAiRa we
85. Match the following - 85. fa=forReaqa @1 fiemy —
List-1 List-IT -1 gA-1I
(A) John Larson (I) Lie Detector (A) ST e () o8 fedaex
(B) Karl Landsteiner  (II) PCR (B) &Il ASEIR (1)  9RARR
(C) Mullis (IIT) Criminalistics (©) gﬁ*ﬂq (II) 3muRTfes fasm=
(D) Hans Gross (IV) ABO blood group (D) 89 T (IV) Uqdielit gd 998
system PUIEH
(1) (A)-(ID), (B)-(AV), (C)~(D), (D)-(1I) (1) (A)-(ID), (B)-(IV), (C)-(T), (D)-(III)
() (A)-(IID), (B)-(IV), (C)-(ID), (D)-(D) (2) (A)-(III), (B)~(IV), (C)~(IT), (D)~(I)
(3) (A)-(ID), (B)-(IID), (C)-(1), (D)~(IV) (3) (A)-(ID), (B)~(III), (C)-(1), (D)-(IV)
@ (A)-D, (B)-AV), (C)-(ID), (D)~(TID) @) (A)-(D)., (B)-(IV), (C)-(I), (D)-(IIT)
(5) Question not attempted (5) argaRRa wee
86. Consider the following statements - 86. fforiRad woFl W fdaR &Y —
(I) Opinion of expert witness is admissible as (D fosasy [@E & VY 9eY O wy ¥
- i:.fidence.rt ) i & 3 e 2
n expert is someone who works in a o
( renqwxfed laboratory that have all the 4B g’ﬁ?ﬂ?ﬂ K E:Ei Eﬁézmm %%ﬁ:\:r_q m
equipment and instruments required for ; :
amalysit, i%m SATALIS TR IR 3R I B F |
(1) Both the statements are incorrect (1) ST 9o Terd €
(2) Both statements are correct, but statement (2) < 9T WE €, Afdd 9grE (1), 99 (D)
(II) do not explain statement () BT W T BRAT &
(3) Only statement (I) is correct (3) Baw gaa (1) 9! B
(4) Both statements are correct and statement (4) TF1 999 | € 3R 939 (ID), 999 (1) BT
(II) is the explanation of statement (I) TR B
(5) Question not attempted (5) srgaRa ued
87. The active ingredient responsible for the 87- ®afew & #ARKIS Suoie wwEl & fog
psychoactive effects of cannabis is - R R afhg ducs & —
(1) Papaverine (1) furafR=
(2) Morphine (2) #Hifh=
(3) Thebaine (3) fora=
(4) Delta-9-Tetrahydrocannabinol (THC) (4) SeeT—9—coRIESIGAIaaa (S1g=i)
(5) Question not attempted (5) Sg<IRd ued
66 - S:g Page 19 of 32




88. Dying Deposition is —

(A) A statement of dying person on oath,
recorded by the magistrate.

(B) No representative from the side of accused
is required while recording dying
deposition.

(C) It is based on ‘Dictum’ which means if a
person cannot go to the court, the court
must go to the person.

(D) The statement ensures a higher degree of
reliability and  allows for  cross
examination.

(E) It is a statement made by a decedent at a
time when his death was imminent, and
when he was aware of its imminence.

(1) Only (A), (C) and (D) are correct

(2) Only (A), (B), (C) and (D) are correct

(3) Only (B), (C), (D) and (E) are correct EEE

(4) Only (B), (D) and (E) are correct ‘ﬂ-’%

(5) Question not attempted =

89. Methylenedioxy ring substitute cannot be
identified with spot test given below; Choose
correct answer -

(1) Mandelin’s Reagent (2) Marquis test

Test
(3) Simon’s test (4) Gallic acid test

(5) Question not attempted

90. The Narcotic Drugs and Psychotropic Substance
Act, 1985 came into force on -
(1) 4 November 1985 (2) 4 December 1985
(3) 14 November 1985 (4) 14 December 1985
(5) Question not attempted

91. One of the hydroxyl group in morphine is
phenolic in nature. This can be proved by
following test -
(1) Reduction (2) Oxidation
(3) Bromination (4) Ferric Chloride Test
(5) Question not attempted

88.

89.

90.

a91.

ggudd yRdeT & —

(A) T& 7R gY Afda &1z w fRar wa
I, ST AfRge §RT &9 (%Al 4T |

(B) g 99T SOl B 98 IR &I 3R A
His ufafAfr smazas =8 1

(C) u' feaeq w amRa &, R aef 8
f ufe o5 =afda s|raa 781 S G,
T argreld &1 Afdd & U ST aTey |

(D) TE 9U I=g R d [Aega-igar =g
BT & IR iy oier @7 Al <dr 2

(B) 98 U& 999 2 Sl U Jao gRI ad fean
T o e IS g Fide of, 3R o«
98 3OS Mdedl @& IR H SEdr 91|

(1) &ad (A), (C), 3R (D) H&! &

(2) Bad (A), (B), (C) iR (D) 12T &

(3) Bad (B), (C), (D) 3R (E) ¥&l &

(4) Bad (B), (D) 3% (E) 9&T &

(5) arRa we

0 o T wWie g 9 Afeisrgaitad

7 &1 ggEE T8 B S Addl B; Hel $ux

TF —

(1) I sfede (2) wifdaw oieror
RIEToT

(3) ATEHA TR (4) feres 3T uieroT

(5) srgaRa ued

IRGBIeR $79 AR AA:99TdT gered rfefaH,
1985 &I g3 —

(1) 4 99a¥ 1985 (2) 4 feAax 1985

(3) 14 999X 1985 (4) 14 feHav 1985

(5) r<IRd e

H#ifPT # Ua wssiadd 9 e gdid
&7 2| 39®! giie &g =1 oxeTor € —

(1) emu=a= (2) it

(3) sifaf@mzor (4) BR® FEARSS
AT

(5) sraRa wea
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92.

93.

94.

95.

96.

97.

Which of the following color test is not
performed for detection of Psilocybin?

(1) Marquis test

(2) Froehde’s reagent test

(3) Fehling’s test

(4) Ehrlich reagent test

(5) Question not attempted

‘Psychedelic Drugs’ generally cause which type
of effect?

(1) Hallucinogen
(3) Sedation

(5) Question not attempted

(2) Stimulation
(4) Depression

Alkaloids are a broad class of naturally occurring

organic compounds that contain at least
OIS sasessonsass atom

(1) Se (2) F

(3 S 4 N

(5) Question not attempted

The ‘Fast Blue B’ reagent is used for detecting
which drug?

(1) Cannabis (2) Cocaine

(3) Opium (4) Barbiturates

(5) Question not attempted

Under NDPS Act, 1985 any property owned by

a person cannot be fortified, if it is related

e T years back of the crime.
Answer is -

(1) 4 (2) 8

3) 6 @) 2

(5) Question not attempted

What is a “cognizable offence”?

(1) An offence where the grant of bail is at the
discretion of the court.

(2) An offense where the police cannot initiate
investigation without the order of a
competent magistrate.

(3) An offence where a complaint is necessary
before action is taken.

(4) An offense where the police can arrest
without a warrant and initiate an
investigation.

(5) Question not attempted

e
=]l

95.

96.

97.

- fr=faRea d§ 9 s 1 gdeor grsaasEa

& ggmE & forg A8 far s 87
(1) mifdag gdreror

(2) wivs &1 Rusie gderor

(3) wefeim &1 gderor

(4) ve=fera Rusie ueror

(5) argaRa weA

AsHSoId ST FHFGAT AT U496 I~
B B

() ST 2 e

(3) feeH (4) fsue=

(5) argaRa ue
- Jehalzed U AUEs A & WWIfdes U I

SOd FEfe A & o o9 9 o9

W o oarmsrmmmeee AL BT 2 |
(1) Se (2) F
3) S (4) N
(5) srgaRa geA

BRE & 4 ANDHS BT ST fHE T B
WRiefor & forg faar srar 27

(1) &arfag (2) drE

@) arm @) srdferea

(5) IR g

TSI YUY, Uae, 1985 @ O8d Ud Afdd P

Hiferw T ¥Ry, S fF R & . L
gd erfta =, Gﬁg&(ﬁ%ﬂg@)ﬁﬁvmw
HabaT |

IR E —

(1) 4 2 8
) 6 4) 2
(5) srgaRa e

"SI JTURTE” T 87

(1) TP R S8 FHHET DI o BT JANHR
Jrrerd &1 fAaeri=ar w R axar 21
(2 s 3wy f9d gfo wed aiinge &
AR & 371 S gH TE FI AFhaT |
(3) UF JURM BT BRAE PXT F Usd Ub

fRrerad smasad Bl 2
(@) & R Sl gford faar aRe & fiRmar
PR FHT & AR T TS BY Pl 2

(5) SrgaRa ued
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98.

99.

Chain of custody proves the integrity of a piece
of evidence. Which are correct in the context of
‘Chain of Custody’?

(I) A record of the chain of evidence must be

maintained and established in the court.

(II) Chain of custody needs to document every

transmission from the moment the evidence

is collected.

(ITT) There is a limit on the number of transfers
of evidence.

(IV) The sequential documentation that
accounts for the sequence of custody,
disposition of physical or electronic
device, control.

(V) A separate chain of custody form must

acompany for different evidence bags.

(1) (D, (D), (11D, (IV) (2) (D), (ID, (IV), (V)

3) (D), (ID, (V) (4) (I), (ID), (110I)

(5) Question not attempted

The most common method of ‘Heroin’ drug
intake is?

98.

99.

Tl €1 OF 3% dcs! D AeH H dEdl

HE 87

(I) <ed e &1 b Re1S @M ST =Arey
3R sreTera F enfud fear =T ARy |

(I <TET 3G BT 8 FIR DI AT BRI
B Bl AMALIHAT & o9 | dgd (s fBU
ST E |

(II1) Fe & WIEFIAR0T B =T BT AT Il
=

(IV) g9 S<draal off fBvrad & o gshH,
BTl TT Soigei=1p SUHRYT &1 (IeH,
forg=or, fagewor & IHH B fqaRT
T B |

(V) ST |qa o971 & Y U et o+
3T HecS! BIH AT B8FT ALY |

(1) (D), (D, (11D, AV) (2) (D), (D), (IV). (V)

(3) (1), (ID, (V) (@) (1), (ID), (III)

(5) sraRd ueH

SRIGT AT o9 BT I ATHRT THBT FT 87

i i (1) #ifRa® (2) Yaea
Orally Rectal ; )
(3) Smoking (4) Intravenous ) il o
(5) Question not attempted (5) SrgaRa o
100. Which of the following is not a key element of 100 {77 % | PHI=TAT URTE Il YdEH BT &I AT
crime scene management? TEl B°
(1) Collection of evidence (1) el &1 Hhod
(2) Identifying and interviewing suspects (2) dfeet &1 gga R IT9 YA BRAl
(3) Crowd control EEE (3) s =1
(4) Documentation ; (4) TEITdSIIHROT
(5) Question not attempted = (5) SgRa usA
101.In which solvent ‘Methamphetamine’ is not 101. f&a dicde # Humwers Qe wEl gar 87
sluble? (1) ereiter (2) TN
(1) Methanol (2) Chloroform :
(3) Distilled water (4) DMF s e o
(3) Question not attempted 6) srgaRa we
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102.

103.

104.

105.

Which is the most simple and common type of
sketching that is used for both an outdoor and
indoor scene?

(1) Photogrammetry sketches
(2) Grid method sketches

(3) Perspective sketches

(4) Bird’s eye view sketches
(5) Question not attempted
Which country is NOT a part of the ‘Golden
Triangle’ for opium production?

(1) Burma (2) Tran

(3) Thailand (4) Laos

(5) Question not attempted

The expert witness should —

(A) give his opinion within the limitation of his
own expertise.

(B)

he need not to provide his educational,

professional, training and experience
details to the prosecutor.

(C) readily admit if he does not know the

answer to any particular question.

(D) should be careful to distinguish between

what he sees with his own eyes and what he

has been told by others.

(E) there is no need to demonstrate any

photograph or graphical results in the

course of testimony in any circumstance.

(1) (A), (B), (D) and (E) are correct

(2) (B), (C) and (E) are correct

(3) (A), (B) and (E) are correct

(4) (A), (C) and (D) are correct

(5) Question not attempted

Which one of the following is a final step in

forensic examination process?

(1) Reconstruction of a crime

(2) Information on the corpus delicti

(3) Proving or disproving witness statements

(4) Information on the modus operandi

(5) Question not attempted

102.

103.

104.

105.

IMITSR T4 TISR TcARAl & o1 Wbl
@l e IMEH 3R yafed f[afr g —

(1) BICHIHL ¥&d

(2 firs As @4

(3) gfufdea w4

(@) 9 o = @a

(5) argaRa we

fe=ar =21 &7

(1) =97 @ =M=

(3) engais (4) e

(5) sraRd ue

fagryst wae @1 =nfey —

(A) 391 fagigsar o el & Wiaw o
<

(B) S IHAGIH BT 01 Afdid, i,
gftErer SR ofgwa fAaReT ueE &A@
AATIHAT T8l B |

(C) At 5<% el Ay s &1 SR o1a =181
g, Al FEodl 9 WIeR &Y |

(D) ST 9 9+ Il ¥ <@d § 3R o 9=
TERI ERT 94137 147 8, & 41 # 3fax deA
# HIgET SvaHT =fev |

(B) &=+t oRRefy & o & S feel

W TR 1 T1fths uRomEl &7 wefdfa oo
PT AMTIHAT 7T 2 |

(M (A), (B), (D) 3R (E) &1 &

(2 (B), (C) 3R (E) ¥ &

(3) (A), (B) 3R (E) 9&l &

(4) (A), (C) 3R (D) @& €

(8) raRa ueA

rfaRaa # 9 da1 BRRYS S ufkar 4

3ifoA =T 87

(1) R &1 gAfAHTT

(2) o Sforadt &1 AR

(3) TaTE ® FAFI Bl Tl AT Tord Arfad HeAT

(4) FHragUTell B BN

(5) sgaRa ueT
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106. Which of the following is a precursor of

107.

108.

109.

110.

methamphetamine?
(1) Morphine (2) Methadone
(3) Caffeine (4) Ephedrine

(5) Question not attempted

Muscle twitching and spasm followed by
convulsions occur in which of the following
poison?

(1) Strychnine
(3) Atropine

(2) Hyoscine

(4) Nicotine

(5) Question not attempted

Which of the following is associated with brain
neurotransmitter GABA?

(1) Barbiturates (2) Cocaine
(3) Benzodiazepine  (4) Amphetamine
(5) Question not attempted

Match the followings from given table -

Database Field of study
(A) CODIS (I) X-ray spectra
(B) IAFIS (II) Ballistic
(C) NIBIN (III) Fingerprints
(D) CODEX (IV) DNA

Choose the correct answer from the options
given below -

(1) (A)-(IID), (B)-(D), (C)-(IV), (D)-(ID)

(2) (A)-(ID), (B)-(IV), (O)-(I), (D)-(11I)

(3) (A)-(IV), (B)-(1D), (C)-(1D), (D)-(I)

(4) (A)-(ID), (B)-(D), (C)-(IV), (D)-(I1I)

(5) Question not attempted

Which search method is used for small and
circular crime scenes?
(1) Grid method

(3) Elevation Zone
method

(2) Spiral method
(4) Zone method

(5) Question not attempted

(o] 3 [s]

106.

107.

108.

109.

110.

frefeRaa 5 @ &9 A¥BeHIgA BT I
-4
(1) HifteT

(2) #HTe=
(3) o= (4) gwiga
(5) rgaRd 9=
AU # Vo 3k - & 91 ney = 4

3 fFw o=w § gar 87

(1) w=sfea (2) BT
(3) Taift= 4) Foerd=
(5) SrgaRd e

f=fofaa § 9 o9 aRass RIgaHeR
GABA ¥ TSI &7

(1) TEieRe (2) T
(3) ISrSTINIUTEA (4) TheETET
(5) IR us=

4 & N arferer | AEfaRaa &1 e
g

ETACES | T &8
(A) CODIS () TrE— |agT
(B) IAFIS (I dfeiRes
(C) NIBIN () fr=fics
(D) CODEX (IV) $1L.TA.T.

M A T RAFpad § 4 F8) SR g —

(1) (A)-ID, (B)-(D, (CO)~(IV), (D)-(ID)

(2) (A)-(ID), (B)-(IV), (C)-(), (D)-(1II)

(3) (A)-1V), (B)-(IID), (C)-(1I), (D)-(D)

(4) (A)-(ID), (B)-(I), (O)~(IV), (D)-(IID

(5) srgaRa we

BIC T4 gOBR geqT oI 3 fa @ fae
&1 wArT far Srar 87

(1) fre fafer (2) wrzRa faf

(3) vferdes &= fafy (@) <= fafy

(5) srg=iRa ue
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111. Match the products of column-I to column-II - 1. pieA—1 & IART Bl Hiaa—11 I e —
Column-I Column-II DicaH—1 HicH—II
(A) Atropine on hydrolysis (i) Cinchonine (A) TSIftF sEsifa ) () REeifs=
(B) Cocaine on hydrolysis (ii) Codeinone (B) ®IdbE ssSIfald R (i) BIfsaH
(C) Quinine on hydrolysis (iii) Tropic acid (C) T TSI WX (iii) 1A 3
(D) Codeine on oxidation (iv) Benzoyl (D) BIS TRITHI0T TR (iv) sorse
ecgonine SHAT A
Choose the correct answer — & IR zﬁ[ e
Note — Hydrolysis = Water Analysis qre — SRR = S favemor
(M (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv) (1) (A)-(1), (B)-(ii), (C)-(ii1), (D)-(iv)
@) (A)-(i), (B)-(iii), (C)-(iv), (D)-(i) EE (2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)
@) (A)-(iii), (B)-(1), (C)-(iv), (D)-(ii) : (3) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)
(4 (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii) [=] (@) (A)-(iii), (B)-(iv), (C)-(i), (D)-(ii)
(5) Question not attempted (5) gaRa ue
112. What is the molecular formula of THC? 12. THC o< &1 vifad g a7 87
(1) C21Hz0 O2 (2) C23H320 (1) C21 H30 O2 (2) C23 H:2 0
(3) Ci9 H2z O2 (4) C2;1 Hz6 O2 (3) Ci9 Has O2 (4) Cz1 Ha6 O2
(5) Question not attempted (5 aRa ue
113. Which of the following is a test for the 113.=yTerg ¥ ey @t AFgar & THew & forg
competence of evidence in the court of law? frre=rforRaa # 1 wi=rar gdierT 872
(1) Locard test (2) Daubert test (1) SrHrS deror (2) Sfec TReror
(3) Adler test (4) Barberio test (3) TSR uviEfur (4) AT oderor
(5) Question not attempted (5) rgaRa we
114. Which one is an example of designer drug? M4 9 # 9 o IR ST &7 SER0r 87
(1) Tetrahydrocannabinol(2) Mephedrone (1) SgrEESEAEad (2) qBsH
(3) Mescaline (4) Psilocin (3) Axmrfers (4) Ryenfy=
(5) Question not attempted (5) araRa gwA
115. A condition in which an individual injects 115.7s U Rafy R @1 =fag &v 2.3 862 &
amphetamine at every 2-3 hours is known as- %Qllﬁalﬂlsil T FOIGRIT oIl &, T 99 FT e
2
(1) Flash (2) Rush :
(3) N bi (4) Huffi o LR el
Speed binge uffing (3) s s (@) sfkr
(5) Question not attempted (5) argaRa ye
116. Germany developed a synthetic form of opium  116. S 7 gy fawg g & <M aiftem &1 W
during World War I1, this is known as - Rigfes wu & fAafa fbar| s 71 Her s
?
(1) Prednisolone (2) Cortisone :E':') i @) wifea
(3) Methadone (4) Polyherion @) ForerT @) dehaRig
(5) Question not attempted (5) raRd ueA
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117.

118.

119.

120.

121.

In which of the following drugs, Naloxone is

used as antidote?
(1) LSD
(3) Cannabis

(5) Question not attempted

(2) Morphine
(4) Ecstasy

In BNS Bill, 2023, as a major change, the crimes

involving structured groups, drug trafficking,

money laundering and extortion are types of -

(1) White — collar (2) Statutory crimes
crimes

(3) Organized crimes (4) Red — collar crimes

(5) Question not attempted

The Marquis Test for Heroin will show which

colour?
(1) Green (2) Yellow
(3) Purple (4) Blue

(5) Question not attempted

Match column-I and column-II -

Column-I Column-I1
Effect Drug
(A) Stimulant (i) Barbiturates
(B) Depressant (ii) LSD, Mescaline
(C) Hallucinogenic  (iii) Amphetamine &
Cocaine
(D) Narcotic (iv) Heroin & Morphine

Choose correct answer -

(1) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)

(2) (A)-(iid), (B)-(1), (C)-(i1), (D)-(1v)

(3 (A)-(iv), (B)-(i1), (C)-(iii), (D)-(1)

@) (A)-(3), (B)-(i1), (O)-(ii1), (D)-(iv)

(5) Question not attempted

Which of the following is a designer drug?
(1) MDMA (2) LSD

(3) Heroine (4) Nicotine

(5) Question not attempted

117.

118.

119.

120.

forr 4 @ 59 ST § A= &1 SUdnT
Treie & w9 ¥ fhar war 27

(1) gergwst (2) #Hiftp
(3) HarfaH (4) TR
(5) IrgxIRd weA

divavw e, 2023 ¥ UH 98 95 B B9 H,
IR SEvE W HefSd Rl b UeR & w9 H
nfde fhar ar 8 —

(1) arge — PloN (2) Jurf=® STIRTE
ITIRTET

(3) wfea sravmey (4) Y§ — PfcR AR

(5) IR wed

Aiffgg  wderor eRIgd @ fau @FEr 3
fe=gm?

(1 s (2) dren
(3) &= (4) <frem
() rgxRa gz
Pfcta—] T Diaa—I1 B Heard —

DictH—1 DiaH—II

49 =T
(A) SKISTP (i) e
(B) IGTEH (i) TATHS!, HEDAI
(C) faum® (i) Tfper@s g d1a=
(D) HIE®H (iv) TS T HifA
e IR g —

(1) (A)-(i1), (B)-(iv), (C)-(1), (D)-(iii)
(2 (A)-(iid), (B)-(1), (O)-(iD), (D)-(iv)
@) (A)-(iv), (B)-(i1), (O)-(iiD), (D)-(1)
(@) (A)-(1), (B)-(i), (C)-(iii), (D)-(iv)
(6) rgalRa o

- o § @ si=ar SR 37 87

(1) THSIgHY (2) TagHe
(3) s+ 4) fAerEE
(5) <RI ueH
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122.

123.

124.

125.

126.

Crime Scene Investigation (CSI) reports are
technical, scientific reports that explain the facts,
which one is NOT necessary in CSI reports?

(1) CSI deals with the physical evidence and
their short detail report and document.

(2) CSI reports generally include testimonial
evidence or what people say.

(3) CSI reports explain the facts about the
relationship between crime scene, physical
evidence and any processing that was done.

(4) CSIreports do not often include information
about the people involved in a case.

(5) Question not attempted

Which of the following drug is NOT classified

as a psychotropic substance?

(1) LSD (2) Codeine

(3) Amphetamine (4) Barbiturates

(5) Question not attempted

On pH conditions Gamma-hydroxybutyric acid

(GHB) is rearranged into Gamma butyrolactone

(GBL) -

(1) pH2 (2) pH7

(3) Below pH 5 (4) Above pH 7

(5) Question not attempted

Under which Section the report of Government

Scientific Officers is admissible?

(1) 293 BNSS (2) 328 BNSS

(3) 326 BNSS (4) 329 BNSS

(5) Question not attempted

The evidence of expert in the court of law is

recorded in the following order —

(A) Question by Judge

(B) Oath

(C) Cross examination

(D) Examination in Chief

Choose correct answer -

(1) (A), (B), (C) and (D)

(2) (A), (O), (D) and (B)

(3 (C), (A), (B) and (D)

(4) (B), (D), (C) and (A)

(3) Question not attempted

:,"C

[5] £ [S]

122,

123.

124.

125.

126.

HsH WH SRS (Wegens) Ruid ga-iia,

Tenfae ROE & S 921 9ad € W HIgHeng

Rurd # smavas T8 87

(1) doaems hfotee ey 3k S9¢T dfera
fa=or RUE 3R =AW 9 Hefda 2

(2) rogeng Rael ¥ MHdR W) 798l & ey
q AR B HEd B aR H SEeN e
Bl B |

(3) wvgans Rurd xRty ord, fBfiea wrey
3R Y TR & 99 Gy B 9N H
T FHSAIT © Sl fohar Tram o |

(4) froqang Rarel 9 e v 9\a & Infaa
AN & IR F IHerT e F8 2 2

(8) 3rgaRd ueA

i &1 TS e il 1 Eeigiite ugref &
Wy ¥ giffgd =&l far Tar 87

(1) vagEs! (2 =

@) verfm @ 9rdfeRey

(5) srgaRa e

TH—EE SR ge IR R (GHB) 5 pH ™
T GerRIede™ (GBL) H graiaferd &1 el
27

(1) pH2 (2) pH7

(3) pH5 ¥ = (4) pH 79 HUR

() srgailRa e

WHRN e ffeRal # Rud 5 am
& dad Wb 87

(1) 293 digAgaTE (2) 328 digagaqH

(3) 326 drgTTHATH (@) 329 flgATaTH

(5) srgmilRa wed

e ¥ faews & |eg 9 w0 ¥ oo 5

S § —

(A) TSl §RT U9
(B) wfarsm

© ufar aler

(D) H&I gl

[E SR g —

(1) (A), (B), (C) 3R (D)
(2) (A), (O), (D) 3R (B)
(3) (), (A), (B) 3R (D)
(4) (B), (D), (C) 3R (A)
(5) IR U
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127.

128.

129.

130.

131.

Which country is the common (principal) source

of the drug cocaine?

(1) Mexico and
Colombia

(3) Mexico (4) India

(5) Question not attempted

(2) Colombia

The color test used for cocaine 1s .......ccceveeevnennnn.
(2) Fast Blue B
(4) Cobalt thiocyanate

(1) Marquis test
(3) Nitric Acid
(5) Question not attempted

Modus operandi means -

(1) A specific distinct repetitive pattern of
criminal behaviour or method of operation.

(2) The assumption of the pattern of events that
leads to the crime.

(3) A possibility of the manner in which the
crime has been conducted.

(4) The intensity of any crime and
measurement.

(5) Question not attempted

its

Arrange in a perfect order by a first responder to

maintain the integrity of the crime scene -

(I)  Establishing a path of contamination

(IT)  Setting up crime scene perimeter

(III) Locking down the crime scene

(IV) Assisting a victim or protecting the life
and safety of people

(1) I, av), (O, dH

(2) (IV), (D), (II), (I)

(3) (IV), dID), (1), (D)

(4) (1), (IV), (II), (1)

(5) Question not attempted

=

Which of the following is naturally occurring
drug?

(A) Marijuana

(B) Psilocybin

(C) Peyote

(D) LSD

Choose the correct answer from the options
given below -

(1) (B). (C). (D) (2) (A), (B). (D)

(3) (A), (B), (©) Q) (C), (), (A)

(5) Question not attempted

00

127.

128.

129.

130.

131

BIfepa AFFE ATGH gSrRd BT AR EAd B4
T | E?

(1) AfFaer g srEfEar (2) e

(3) Hfaar (4) 9Rq

(5) erg<iRa ueA

Ple B U sHTer foham S arer 391 geroy
BT B

(1) #ATfdaa aeror (2) wre < @1

() Tsfew s (4) PETee AT
(5) =T gz

Hred SFUvEY &1 31ef & —

(1) IMRIEF TgeR AT Gala- @ Udb (AR
A~ar 4 N WHY BT U Hi¥ad smadl
e |

(2) R B AN F FF qrT geAsil B Ued
BT A |

(3) g a8 A IR fFar a7 8, S9@T Uh
HHTEAT |

(4) Y ft roxTe @1 dgdr IR S99 A9 |

(5) srgaRd g

SORGEHE §RT AW e B GRidd 3@ &

foe wE w9 § alRed & —

()  H=<Iff=9E & 76 &1 iR

(1) 3TURT =T B JAY =A1Ua HAT

(III) STURTET WIS BT Hid BT

(IV) HIRET &Y T HRAT SR Sl bl GReT

BT

(1) (I1D), (IV), (D), (ID)

(2) (IV), (D), (1D, ()

(3) av), (1), am, (D

(4) (1), (IV), (I1D), (I)

(5) IaRa uw

- Fr=fafed § 9§ 90 <a1 uiefas w9 | gl

ST 87

(A) FRSAT

(B) WSS

(C) yaIe

(D) TIgHS!

T R T Aol # 4 98 SR g4 —
(1) (B), (C), (D) (2) (A), (B), (D)
(3) (A), (B), (O) 4) (C), (D), (A)

(5) IR weA

66 -

b

Page 28 of 32



132.

133.

134.

135.

136.

137.

Under which Section of Bharatiya Sakshaya
Adhiniyam, the verification of Handwriting &
Signature is done?

(1) 42 (2) 44

(3) 43 4) 41

(5) Question not attempted

Informational evidence obtained from

statements of persons who have some knowledge
of the crime scene are called as -
(1) Physical evidence

(2) Corroborative evidence

(3) Circumstantial evidence % :
(4) Testimonial evidence

(5) Question not attempted

‘Which chemical test is commonly used to detect
meconic acid in opium?

(1) Frochde’s Test

(2) Marquis Test

(3) Cobalt Thiocyanate Test

(4) Ferric Chloride Test

(5) Question not attempted

Which of the following is a most powerful
hallucinogenic drug?

(2) LSD

(4) Amphetamine

(1) Heroine
(3) Cocaine
(5) Question not attempted

‘When Brown Sugar is consumed, it metabolises
in body into...........iccoeeni.

(1) Di acetyl morphine (2) Thebaine

(3) Codeine (4) Morphine

(5) Question not attempted

Cannabidiol (CBD) gives ................ color with
Fast Blue B.

(1) Red (2) Yellow

(3) Orange (4) Purple

(5) Question not attempted

(=] =]

132.

133.

134.

135.

136.

137.

RO 9 fafam &6 f59 arT & g
BTG 3R BN T goaia {Har Siar 87

(1) 42 (2) 44
(3) 43 (4) 41
(5) srxilRar we=

AW A & IR H [P WHGN [GA drad
Al & 9 A U YIAreTd A BT RT
HET ST 87

(1) ~ifas g

(2) yfecrrs wrg

() aRRerfas—a wrea

(4) HifTa |y

(5) sraRa u=

HIAAT IS IO JMAAR R B H
I TS &1 IdT ofTH & oIy 9T fasan
ST 87

(1) TS &1 gRIEToT

(2) wifdes gieror

(3) PlaTee ATAN[ZAE gEoT

(4) HRF FARISS TR

(5) SraiiRa we

Fre=forfRed & @9 999 wfdderet afogmery
gar 87

(1) &= (2) gagas

() Prda (@) TherEA

(5) srgaRa uee

IR A [T B D G T84 YR SYMIEY
Gl - 1 (R, H 9 STl 2 |

(1) s13 vhafea #ifva (2) o=

(3) IS (4) #Hif%ha

(5) IR weA

DAdSTSA (AHS!) BRT & B & A1 HIA«T
PR ol ©7

(1 e (2) e
(3) =R (4) =i
(5) srgaRa u=
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138.

139.

140.

141.

142,

143.

144.

Which of the following is a group of completely
synthetic drugs?
(1) Amphetamine and Heroin

(2) Amphetamine and oxycodon [=]x
(3) Barbiturates and LSD &l
(4) LSD and PCP

(5) Question not attempted

The conversion of morphine to heroin

involves acetylation of the hydroxyl groups on

(1) 4&6 (2 5&6
(3) 3&6 4) 2&4
(5) Question not attempted

Duquenois-Levine test is specific for the
identification of -

(1) Peyote (2) Hasish

(3) Morphine (4) LSD

(5) Question not attempted

Which of the following is synthesized through
amine displacement method using safrole as the
precursor?

(1) Amphetamine (2) MDMA

(3) PCP (4) Tramadol

(5) Question not attempted

Which of the following is an active principle of
dhatura?

(1) Hydrocyanic acid (2) Thevetin

(3) Scopolamine (4) Cerberin

(5) Question not attempted

Which of the following is a hallucinogenic
compound found in magic mushrooms?

(2) Psilocybin

(4) Mescaline

(5) Question not attempted

(1) Amphetamine
(3) Scopolamine

Punishment for the attempt to commit suicide is
defined under the Section of Bharatiya Nyaya
Sanhita, 2023 -

2[=]

138. f=foriRaa & 9 &4 g1 ke 9 Riafes <amsil

139.

140.

141.

142,

143.

144.

(5) srgaRd uw
Hifthw &I eXgT & deod @ o g wrdea =R

BISSiaae gl &1 vRafeeiiavor 81 Sirar 87

(1) 4&6 (2 5&6

() 3&6 @ 2&4

(5) srgaRd u=A

TP qen fFad vgaE & o
fafdre 27

(1) e (2) e

(3) #ffts= (4) gagES

(5) IR

fr=faRad # &9 ST i BT WhER & U
¥ IYANT HRd T e fafy & aeaw «
Hyeilda forar wrar 87

(1) TehemsH (2) THSIgHY
(3) Gt (4) e
(5) Irg<iRa gz

frafalRead # & @19 g &1 |fhy gcs 87
(1) sssmafs oRre (2) gafes

(3) =PI (@) IxafR=

(5) IrgRa g

fr=forRag & 9 b9 ve dfauEe ueref 8
S WG AYREA H Ul S 87

(1) Tehefaq (2) TsaAEEET
(3) wHOTTEA (4) FHTSH
(5) sg<iRa g

ITHET & YA & fov yRd™ =g fedr,
2023 &1 g gRT & deg afRdfea faar T
e

(1) 226 BNS (2) 106 BNS (1) 226 doa0y (2) 106 figaTH
(3) 137 BNS (4) 108 BNS (3) 137 §igagg (4) 108 STty
(5) Question not attempted (5) argaRd ued
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145.

146.

147.

148.

149.

150.

Which of the following Section of Bharatiya
Nyaya Sanhita, 2023 deals with the punishment
for bribery?

k) 373 (2 174

3 170 (4) 202

(5) Question not attempted

Brucine is closely related to strychnine; what is
the category of this molecule?

(1) Carbohydrate (2) Alkaloids

(3) Fatty acids (4) Glycosides

(5) Question not attempted

Which of the following is associated with
sinsemilla?

(1) Cannabis (2) Ergot

(3) Phencyclidine (4) Opium

(5) Question not attempted

Polygraph instrument works on the
physiological changes created in a person due
to emotional disturbance which occurs due
(1) Fear of society

(2) Guilt of family

(3) Guilt of criminal act

(4) Fear of detection of lie

(5) Question not attempted

What is Voir Dire?

(1) A scenario in which an expert is found to be
biased to one party.

An agreement between the expert and the
defence for the ease of proceeding.

The process in which prosecution and
defence is allowed to make objections to
expert.

A qualification inquiry conducted by the
attorney to show that the witness is indeed an
expert.

(5) Question not attempted

Which of the following Act of Bharatiya Nyaya
Sanhita, 2023 deals with the act causing slight
harm?

(1) 33 (2) 30
(3) 31 (4) 32
(5) Question not attempted

(2

(3)

4

@%E
lﬁ ¥
(=]

145.

146.

147.

148.

149.

150.

AR =g wfgdn, 2023 @ AEfalRea & 9
BT &R Reaqan) & o < 9 de9foa 87
(1) 173 (2) 174

(3) 170 (4) 202

(5) srgaRa uea

g wEfea ¥ Fecar 9 w&fta & 39
Aiferager @1 2ol gar &7

(1) wEfEsgcd (2) sremcilsed

() &3 vfasa (4) PSS

(5) Frg<iRa ge=

FrfoRead # 9 o REafter 9 wd9fda 87
(1) darfeg (2) Tife

(3) waaTsfdasH (4) s

(8) Irg=Rd ue

giciim®  Sudxer fedl afed Ho A

IU ATGATHSD LT & HROT WIS 8 I
IR® ufafrarst @ &l &var 2

(1) 91 & =

(2) gRAR # arg=TET 9y

(3) I & H <9

(4) 33 BT 9dl T & SN

(5) IrgaRa uw

AR SRR T 27

(1) e aRgey 598 U foRlvs & & ued &
gfel gerarRi U ST €

(2) uftbar &7 gE a9 & forg fARws ik
919 & 4 Uh FHSAn|

(3) gz ufrar s e IR g9 &)
?@uawamﬁfmﬁaﬁa—jqﬁé’faﬁ#
|

(4) v IrIar S Sl 9P gRT @Y SiTdr 8
g o= & v & 9w arag & s
s 81

(5) srgRa u=

NG g Hfgan, 2023 &1 fFefefRad § 9

Il GRT AT JHAE Uga™ drel Hed o

e 87

(1) 33 (2) 30
(3) 31 @ 32
(5) IgaRa ue
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